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Find the missing numbers
Fill in the missing numbers in the following number sentences. Explain and show your working in the space below.
	84 +             = 133













	63 ×             = 252







	              ÷ 7 = 12














	365 -              = 237





	In Year 5 there are 16 more girls than boys. Trent knows there are 37 girls. How can Trent work out the number of boys in Year 5? 
· add 37 to 16
· subtract 16 from 37
· multiply 16 by 37
· divide 37 by 16








	Levi, Mason and Ty have 70 stickers in total. Levi has 12 and Mason has 32. How many stickers does Ty have?
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